Pcaziz, AY 2009 /2010 ) dew 2, Tect /
Question. . - 1/5 >

Write answers on this side of the paper only.

[D Jh e wup__
f/m/@:%ry o Wﬂq e 4-vechr (eve.t)

G

a«a/,m A’l.?emqo W«w(cmmﬂw?éjyo/m we

d"’% 3 cé)
) (arv/c T B% (a’f /

_ yct . mﬂdp -
: (é,v,_uwg) | ; ..{Wmvu:g)

it by o ol

=/ = -
R=V+Lu e

/
"‘?¢¢f r 4?%%%é§';?izl

—

b , . o
WTE VT S ut e v (uve)T

= ¢c*- L (CZ— ’U'?’) ZCZ/'U.}) < ct
cte_ 7
Ee o /

be.

@uﬁédtgrkuiﬁ/ﬁéwu e prchil

Do not write on
either margin




Question. . 2/5 s

Write answers on this side of the paper only.

2 e %o %qm,‘ Loctuce [faém«-??af/ie Nekes )

Hal

gE:‘JWg—‘;X-g/

_... . S
(SE: Wégwfg'fé;xg)

S(Weh) = -memwf—x/g%: 7F)

Do not write on
either margin

gf“ am/ &0‘*4%7, ]Lg_(ég*f)‘('rlq%z“—vﬁ;@)

L L N =

= = Ocerr .

Thalz: X 4 a /mew/} Y1 - ﬂééwﬂ/.




Question. . 3 / 5 .....

Write answers on this side of the paper only.

Do not write on
either margin

Bl Tor e, e fm .clv:7 - -1 ,
— 7 v TG Vi
Ao Hal W/( vc? ) v ekl

774(. HAD Ul 9’/ L )ZG’ A Mﬁl%%«( &J%/,Z

i
v/ VvV o
/

VO
g[ = — P 0V + mc —=
T V‘“vi

j;_:gw = a/vmx/ &)
' VeZ-
L A v o= | \/“/'(T",ZC)L ) e ragzrtf (>¢)
.O ‘
a) o[%w&m; V. an e ZZ/ P cud meeéf
pl= (me) y2 O ) = (we)" (1)
0y = L [fme)2s BY
) me VS 7

ton tr  neversl  aelalive

S
A/" \{[an) + P '
Tlew b
HiFZ)= |+ BV —me(1=1)]
[V= B/tym)
cpt snei®
- 7% -,- —WCL-'L g AL -2
Vi 7 /e)' 1P




Question [// S

Write answers on this side of the paper only.

Do not write on
either margin

rP—-C[L)fﬂ el

)
7

e /%'A’w Mwmu /@ He_setbsicte fuichc

it e

ddhva/u actual #ramo/vvw _ym Q—”/“

5{'(‘/

/.
T,

N [‘, st oo B 7 2 s
W, = [at we (1= V0%

(2
' 7
'éz

- walt \[At ~ Ao/)

O it Cary ) x (difftce Lehoto.. e

”&mmwdéﬁymfAfmwv@é

.,_}71«6 A/,;)

m((ﬁ) r T d Vé\(r) = f(olr)

r—- - = 8“(-1)"

Q
|

)315() d.

T chobypitase wf&%fa/ «




Question. .. =4 .. ..

Write answers on this side of the paper only.

f v) §(F) bl = ,_,,/

“a 1 ]
2 f( Ry
7.07'"_? A7

v >
i
We sae %«jv@mm

o

_ I
= . =

rC )
Etv) - -VéE)= .97 L
QLT B g S

The Contock £rw 45> nwededd Fo Cuscoe
ol VO L la fo crreof 0%4%674%’@

te ) el = —Umd(®)

5943

:I é«fz _3Pr:f 7 ‘1860
- 3{‘;3,3{ - -/x3 Cg(\’)

4 S(7).

\)

Do not write on
either margin




